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B < 1.0m " m3 58.7
Bt T8 207.2-(125.8+58.7)/0.9 m3 2.2
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NO. 2 20. 000 1.9 1.95 39.0
NO. 2 + 8510[ 8510 1.9 1.90 16.2
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woo0os | B 3 3 .
(m) B m | F 8| % = m|F B % =

NO. 0 +  1.730 1.2 0.6
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NO. 5 + 12,480 4.050 0.1 0.10 0.4

Ll 110. 750 125.8 58. 7




HEEE B & Y B £ T & fH =
£ G HO® g = B | /ME &5t
[EEmEET]
aVvy—rEREL|  EFBEYD m3 18.4
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A =1 m2 m2 m2 e
(m) B m E i o= W m 1 o= W m 1 o=
BP 0.77 0.85 R
NO. 0 + 1.730 1.730 0.77 0.770 1.33 0.85 0.850 1.47
NO. + 8.510 1.00 0.86 7—bER
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NO.3+5.84 0.000 2.75 0.93 0.90 0.92 BH/KEE NOADIEEFIA
NO.4 14.160 2.75 2.75 38.94 0.93 0.93 13.17 0.90 0.90 12.74 0.92 0.92 13.03 "

NO.4+2.68 2.680 2.75 2.75 7.37 0.93 0.93 2.49 0.90 0.90 2.41 0.92 0.92 247 n

NO.4+2.68 0.000 242 0.76 0.72 0.94 BRI NO.4+55M ¥ E%FIFA
NO.4+5.50 2.820 2.42 2.42 6.82 0.76 0.76 2.14 0.72 0.72 2.03 0.94 0.94 2.65 n"

NO.4+8.33 2.830 2.42 2.42 6.85 0.76 0.76 2.15 0.72 0.72 2.04 0.94 0.94 2.66 n"

NO.4+8.33 0.000 2.81 0.93 0.95 0.93 B/KEE NO.4+1350MEE%FIH
NO.4+13.50 5.170 2.81 2.81 14.53 0.95 0.94 4.86 0.95 0.95 491 0.93 0.93 4.81 "

NO.4+18.69 5.190 2.81 2.81 14.58 0.93 0.94 488 0.95 0.95 493 0.93 0.93 483 n
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